

51 Ubi Ave 1 #01-25 Paya Ubi Industrial Park, Singapore 408933

TEL: 6256 3561 FAX: 6256 4315

Reg. No: 199607198R GST Reg. No. 19-9607198-R

Page No.:1 of 5

ADJUSTMENT ON REPAIR COST FOR VEHICLE NO. SMQ 5030L

Qty	Description of Parts	Condition	Estimate By Workshop (\$))	Our Adjusted (\$)
	REPLACEMENT OF PARTS			
1	BONNET	REPAIRED SEE LABOUR	1,618.00	-
1	BONNET LOCK	REPLACED	139.00	139.00
2	HEADLAMP R/L @\$1036.00	NOT NECESSARY	2,072.00	-
1	FRT GRILLE ASSY (AMG)	REPLACED	813.00	813.00
1	FRT BUMPER (AMG)	REPLACED	1,452.00	1,452.00
1	FRT BUMPER NO. PLATE GARNISH	REPLACED	83.00	83.00
4	FRT BUMPER PARKTRONIC SENSOR @\$220.00	REPLACED (2PCS ONLY)	880.00	440.00
1	FRT BUMPER PARKTRONIC WIREHARNESS	REPAIRED SEE LABOUR	122.00	-
1	FTR BUMPER CENTER GRILLE ASSY	REPLACED	187.00	187.00
1	FRT BUMPER LIP (AMG)	REPLACED	341.00	341.00
1	FRT BUMPER REINFORCEMENT	REPLACED	362.00	362.00
1	FRT AIR DUCT	REPLACED	87.00	87.00
1	FRT INTERCOOLER	REPLACED	989.00	989.00
2	FRT INTERCOOLER HOSE R/L @\$86.00	O/S REPLACED	172.00	86.00
1	FRT INTERCOOLER AIR GUIDE	REPLACED	58.00	58.00
1	A/C CONDENSER	REPLACED	1,187.00	1,187.00
1	RADIATOR ASSY	REPLACED	972.00	972.00
1	RADIATOR FAN ASSY	REPLACED	562.00	562.00
1	FRT SUPPORT PANEL	REPLACED	1,028.00	1,028.00
2	FRT SUPPORT BRACKET R/L @\$32.00	REPLACED	64.00	64.00
1	FRT SUPPORT LOWER	NOT NECESSARY	433.00	-
1	FRT RADAR COLLISION PRE.SENSOR	NOT NECESSARY	930.00	-
1	TAILGATE	REPLACED	2,061.76	2,061.76
1	TAILGATE EMBLEM (LOGO)	REPLACED	52.00	52.00
2	TAILGATE HINGE R/L @\$84.00	NOT NECESSARY	168.00	-
2	TAILGATE HINGE COVER R/L @\$72.00	NOT NECESSARY	144.00	-
1	TAILGATE INNER TRIM GARNISH	NOT NECESSARY	179.00	-
1	TAILGATE INNER TRIM GARNISH LOWER	NOT NECESSARY	91.00	-
1	TAILGATE LOCK ASSY	REPLACED	327.00	327.00

Report Ref No. CS3/CTI22009690/Svp3e2-1



51 Ubi Ave 1 #01-25 Paya Ubi Industrial Park, Singapore 408933

TEL: 6256 3561 FAX: 6256 4315

Reg. No: 199607198R GST Reg. No. 19-9607198-R

Page No.:2 of 5

Qty	Description of Parts	Condition	Estimate By Workshop (\$))	Our Adjusted (\$)
1	TAILGATE WEATHERSTRIP	REPLACED	246.00	246.00
2	TAILLAMP R/L @\$682.00	O/S REPLACED	1,364.00	682.00
2	TAILLAMP PANEL R/L @\$183.00	REPAIRED SEE LABOUR	366.00	-
1	RR BUMPER (AMG)	REPLACED	1,448.00	1,448.00
6	RR BUMPER PARKTRONIC SENSOR @\$220.00	REPLACED (4PCS ONLY)	1,320.00	880.00
1	RR PARKTRONIC SENSOR WIREHARNESS	REPLACED	192.00	192.00
1	RR BUMPER TOW COVER	REPLACED	28.00	28.00
1	RR BUMPER DIFFUSER ASSY (AMG)	REPLACED	286.00	286.00
2	RR BUMPER SIDE TRIM R/L @\$64.00	N/S REPLACED	128.00	64.00
1	RR BUMPER CENTER GUIDE	REPLACED	226.00	226.00
2	RR BUMPER SIDE GUIDE R/L @\$63.00	REPLACED	126.00	126.00
2	RR BUMPER SIDE RAIL R/L @\$38.00	REPLACED	76.00	76.00
1	RR BUMPER REINFORCEMENT	REPLACED	544.00	544.00
1	RR END PANEL ASSY	REPLACED	895.00	895.00
1	RR END PANEL INNER GARNISH	REPLACED	106.00	106.00
2	RR FENDER INNER TRIM R/L @\$229.00	SERVICEABLE	458.00	-
1	RR COMPARTMENT COVER LID	SERVICEABLE	705.00	-
1	RR FLOOR PANEL TRIM	SERVICEABLE	183.00	-
1	RR FLOOR PANEL	REPAIRED SEE LABOUR	973.00	-
1	RR FLOOR PANEL INSULATOR	REPLACED	133.00	133.00
1	RR EXHAUST MUFFLER	REPLACED	1,142.00	1,142.00
2	RR EXHAUST TIP (AMG) R/L @\$148.00	REPLACED	296.00	296.00
1	RR EXHAUST HEAT INSULATOR	REPLACED	148.00	148.00
2	FRT SEAT BELT R/L @\$682.00	REPLACED	1,364.00	1,364.00
2	RR SEAT BELT R/L @\$397.00	REPLACED	794.00	794.00
1	BONNET (NPA)	REPAIRED SEE LABOUR	-	-
2	FRT FENDER R/L (NPA)	REPAIRED SEE LABOUR	-	-
2	FRT CHASSIS MEMBER R/L (NPA)	REPAIRED SEE LABOUR	-	-
2	RR TAILLAMP PANEL R/L (NPA)	REPAIRED SEE LABOUR	-	-

Report Ref No. CS3/CTI22009690/Svp3e2-1



51 Ubi Ave 1 #01-25 Paya Ubi Industrial Park, Singapore 408933

TEL: 6256 3561 FAX: 6256 4315

Reg. No: 199607198R GST Reg. No. 19-9607198-R

Page No.:3 of 5

Qty	Description of Parts	Condition	Estimate By Workshop (\$))	Our Adjusted (\$)
2	RR FENDER R/L (NPA)	REPAIRED SEE LABOUR	-	-
2	RR CHASSIS MEMBER R/L (NPA)	REPAIRED SEE LABOUR	-	-
	LESS 5% DISCOUNT		-1,556.04	-
	LESS 10% DISCOUNT		-	-2,096.68
			29,564.72	18,870.08
	SPECIAL NETT ITEMS			
1	SET FRT NO. PLATE (3D, W/BRACKET) (SN)	REPLACED	120.00	100.00
1	BOT RADIATOR COOLANT (SN)	REPLACED	50.00	40.00
1	RR NO. PLATE BRACKET (SN)	REPLACED	15.00	15.00
1	RR WINDSCREEN SEALANT (SN)	REPLACED	50.00	40.00
1	RR END PANEL SEALANT (SN)	REPLACED	50.00	40.00
1	RR FLOOR PANEL SEALANT (SN)	NOT NECESSARY	50.00	-
			335.00	235.00
	<u>LABOUR</u>			
	TOWING.		120.00	80.00
	TO REMOVE AND REINSTALL FRONT ELECTRICAL WIRING SYSTEM FOR NECESSARY REPAIRS. TO CHECK ELECTRICAL SYSTEM. REPAIR WIRE HARNESS AND FOCUS HEADLAMP.		60.00	50.00
	TO REMOVE, REPLACE AND REINSTALL A/C CONDENSER & A/C PIPINGS. (INCLUDE VACUUM & RECHARGE A/C GAS)		120.00	120.00
	TO REMOVE, REPLACE AND REINSTALL RADIATOR & COOLING SYSTEM. (INCLUDE PRESSURE TEST COOLING SYSTEM.)		100.00	80.00
	TO REMOVE, REPLACE AND REINSTALL INTERCOOLER ASSY & PIPINGS. (INCLUDE PRESSURE TEST AIR INTAKE SYSTEM.)		100.00	60.00
	TO REMOVE, REPLACE AND/OR TRANSFER FRONT PARKTRONIC SENSORS TO NEW BUMPER.		20.00	20.00
	TO STRAIGHTEN, REPAIR, REALIGN ON FRONT AFFECTED AREA AND REPLACE DAMAGED PARTS.		1,200.00	600.00
	TO SPRAY PAINTING (PEARL YELLOW), BLENDING ON FRONT AFFECTED AND ADJACENT AREA.		1,500.00	500.00



51 Ubi Ave 1 #01-25 Paya Ubi Industrial Park, Singapore 408933

TEL: 6256 3561 FAX: 6256 4315

Reg. No: 199607198R GST Reg. No. 19-9607198-R

Page No.:4 of 5

Qty	Description of Parts	Condition	Estimate By Workshop (\$))	Our Adjusted (\$)
	TO REMOVE AND REINSTALL REAR ELECTRIAL WIRING SYSTEM FOR NECESSARY REPAIRS. TO CHECK REAR ELECTRICAL WIRING SYSTEM.		60.00	50.00
	TO TRANSFER REAR WINDSCREEN TO NEW TAILGATE.		120.00	120.00
	TO TRANSFER TAILGATE COMPONENT PARTS TO NEW TAILGATE. (INCLUDE TRANSFER TAILGATE SPOILER & SUPPLY SEALNT/ADHESIVE TAPE).		150.00	80.00
	TO REMOVE AND REINSTALL REAR INTERIOR TRIMS, GARNISHES, SEATS, ETC. FOR NECESSARY REPAIRS.		100.00	80.00
	TO REMOVE AND REINSTALL REAR UNDERCARRIAGE FOR NECESSARY REPAIRS.	NOT NECESSARY	200.00	-
	TO CONDUCT REAR WHEEL ALIGNMENT.		60.00	60.00
	TO REMOVE AND REINSTALL EXHAUST MUFFLER FOR NECESSARY REPAIRS. TO STRAIGHTEN, REPAIR, REALIGN CENTER EXHAUST PIPE AND REPLACE EXHAUST MUFFLER.		100.00	80.00
	TO REMOVE, REPLACE AND/OR TRANSFER REAR PARKTRONIC SENSORS TO NEW BUMPER.		20.00	20.00
	TO CONDUCT CHASSIS ALIGNMENTS.	NOT NECESSARY	300.00	-
	TO STRAIGHTEN, REPAIR, REALIGN ON REAR AFFECTED AREA AND REPLACE DAMAGED PARTS. INCLUSIVE OF THE REPAIR OF BONNET, FRT BUMPER PARKTRONIC WIREHARNESS, TAILLAMP PANEL R/L, RR FLOOR PANEL, FRT FENDER R/L, FRT CHASSIS MEMBER R/L, RR TAILLAMP PANEL R/L, RR FENDER R/L AND RR CHASSIS MEMBER R/L.		1,500.00	1,200.00
	TO SPRAY PAINTING (PEARL YELLOW), BLENDING ON REAR AFFECTED AND ADJACENT AREA.		1,500.00	1,000.00
	TO SPRAY ANTI-RUST COATING ON NEW AND AFFECTED PANELS.		30.00	30.00
	TO REMOVE, REPLACE AND REINSTALL FRONT & REAR SEAT BELTS.		200.00	150.00
	TO INSPECTION, DIAGNOSE, RESET AND PERFORM CODING PROGRAMMING ON:- 22.1)FRONT RADAR COLLISION CONTROL SYSTEM. 22.2)PARKTRONIC CONTROL MODULE. 22.3)AIRBAG / SEAT BELT CONTROL MODULE. 22.4)ENGINE CONTROL UNIT.	NOT NECESSARY	400.00	-
			7,960.00	4,380.00
	GRAND TOTAL		37,859.72	23,485.08



Page No.:5 of 5

RECOMMENDED COST OF LUMP SUM REPAIRS	18,800.00
(TO ITS PRE-ACCIDENT CONDITION)	

Report Ref No. CS3/CTI22009690/Svp3e2-1

1/

S MOHAMED IRFAN BIN MOHAMED IQUBAL

Asst. Automotive Assessor

P

ANG BRYAN TANI

Automotive Assessor / Investigator